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y(mm) m(gr)
46+0.5 50
65+0.5 100
81+0.5 150
95+0.5 200
11010.5 250
12310.5 300
13610.5 350
14310.5 370
14610.5 390
14910.5 410
15310.5 420
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m(gr) Yihe(M)
50 0.04573
100 0.06588
150 0.08193
200 0.09591
250 0.108846
300 0.121726
350 0.134607
370 0.139759
390 0.144911
410 0.150063
420 0.152639
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m(kg) 0.05 0.1 0.15 0.2
y(m) 0.0460.0005 0.065:0.0005 0.081:0.0005  0.095+0.0005
m/y?(kg/m?) 23.6294+0.51368 23.6686:0.36413 22.8623:0.28225 22.1606:0.2332
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T 0.25
0.11
y(m) +0.0005
- 0.06
y(m) +0.0005
- 4.166667
m/y (kg/m) 4 034722
16.66667

1/y(A/m) 4 138889

0.3 0.35 0.37 0.39 0.41 0.42
0.123 0.136 0.143 0.146 0.149 0.153
+0.0005 +0.0005 +0.0005 +0.0005 +0.0005 +0.0005
0.073 0.086 0.093 0.096 0.099 0.103
+0.0005 +0.0005 +0.0005 +0.0005 +0.0005 +0.0005
4.109589 4.069767 3.978495 4.0625 4.141414 4.07767

+0.028148 $0.023661 +0.02139 +0.021159 +0.020916 +0.019795
13.69863 11.62791 10.75269 10.41667 10.10101 9.708738
+0.093826 +0.067604 $0.05781 +0.054253 +0.051015 +0.04713
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